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AABC 9|4 /B €] o]

2t gk ff, /D = 40° o] /A o] 27|12 Fstojet.

A D
A ?
p&t L
@® 60° @ 64° ® 68° @)80° ® 84°
A D

B

(b= rta+40° 2/b = /x+ 2/a
/x+ 2/a = 2(La + 40°)

/X + 2/a = 2/a + 80°

o Lx = 80°




4. ©He 7383} 242 AABC oA AD = BD € 1), /BAD ] I7]=9

@® 20° @ 25° ® 30° @)35° ® 40°

/ADB = 35° + 75° = 110°
AD =BD °o|E &2
/ABD = (180° - 110°) + 2 = 35°
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35°

< 115°

454

® 30° @) 35° @ 40° @ 45° ® 50°

35°

/
< 11

455 \

Za = 35° + 45° = 80°

oS 197 2ol a € FJOoH
la+ /x=115° o|P&

/x = 35° o]t}




6. o 2" 9 2717

@® 45° @ 50° @55° @ 60° ® 65°

~&B

DE T2t o] 92te] T 360° oln2
£x+5°42x=30°+ £x+80°+ {180° — (—£x + 150°) } = 360°
olt.

wkehA] zx = 55° o]k,




7. oL I™NA B+ £C + /D + (E + (F + G 9] 3t&?

@ 400° @)440° ® 540° @ 600° ® 7120°

Q7Y o] W z+e] 3h2 540° o]t}
w2tA A + /B + £C + 2D + (E + /F + /G = 540° 0|22
/B+ /C+ /D + (E + /F + /G = 440° o]t}
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9. o I"HAA 9 717

@® 115° @ 110° ® 210° @215° ® 250°

~EB
AZrE 9 Wzhel 2719] -2 180° o|B=
AABC °f|A £A + /ABP + /PBC + /PCB + /ACP = 180°
/80° + £35° + /PBC + /PCB + £30° = 180°
(PBC + /PCB = 180° — 145° = 35° o|t}.
APBC 94 /PBC + /PCB + /BPC = 180°
(PBC + /PCB = 35°
35° + /BPC = 180°
(BPC = 180° — 35° = 145° ©| 2. &
x = 360° — 145° = 215° o|t}.




10. o2 ™A x & 2717
Abs

X

@ 20° @22° ® 24° @ 26°

® 28°

5x = 3x — 13° + 180° — (4x + 35°)
bx =132° — x
o /x = 22°




11. o 2”3} Zo] BAC =35° 4 W], LBOC o] 275 FoHH?

@ @mn @ @se o

~&B

o8 7oAl OA 2 71°9W OA = OB = OC |t}

/OAB = a, /OAC = b 2t1! 5}
a+b=35°
(BOC = 70°
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13. /A =180°, /B=110° € W}, £.C + /D + (E + (F 2] 27|12

@® 150° @)170° ® 210° @ 270° ® 350°

(EGF = /AGC = /D + (E + (F °]1!

LA+ /B+ /C+ (AGC = 360° o]B2

80° + 110° + £C + /D + (E + /F = 360° ©]t}.
. /C+ /D + (E + (F = 170° ©]t}.
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@ 30° @ 1000 ® 1200 @rsoe

® 260°

75° 4+ x + (180° — 140°) + 47° 4 68° = 360°
L /x =130°
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webA n = 3 E= g — 40]c},
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